Convoy and Naval Interception Tables


	Naval Anti-Aircraft (2D6)

	Value
	Naval Units & Ports

	?
	Total gunnery rating x 0.10 (round down)

	+2
	Docked in major or fortified port

	+1
	Docked in minor port

	+1
	DD total # > all other Naval units or CV

	+1
	At least 50% US Naval units from 1944

	-Total current gunnery rating off all naval units is 
summed and then divided by 10 (round down). 
-Minimum 2; -Maximum 4. 



Convoy Raiders


Agent		     Allied EP losses


U-boat�
1 per U-boat�
�
Auxiliary Cruiser�
1 per gunnery value�
�
CL�
1 per gunnery value�
�
CA�
1 per gunnery value�
�
BB�
1 per gunnery value�
�
Shnorchel 


U-boat�
2 per Shnorchel   


U-boat�
�
CV�
8 per CV w/naval air unit�
�
Bomber�
(see rule[2.13])�
�






Convoy Route: U-boat Ratio


Escort      U-boat is


Value          “Hit”


100+�
<12�
�
91-99�
<11�
�
80-90�
<10�
�
71-79�
<9�
�
60-70�
<8�
�
51-59�
<7�
�
40-50�
<6�
�
31-39�
<5�
�
20-30�
<4�
�
11-19�
<3�
�
1-10�
2�
�
+1 DRM for Shnorchel U-boat.





A U-boat attack roll of “12” is always an escort hit. The side with Initiative chooses which escort is hit. U-boats and Escorts cannot move and attack/escort during the same turn.





Convoy Escort Values


DE�
1�
�
DE damaged�
1/2�
�
DD�
1�
�
DD damaged�
1/2�
�
CVE, CVL, CV (w/naval air)�
4�
�
CVE, CVL, CV damaged�
-�
�
Bomber�
4�
�
Bomber depleted�
2�
�
Carriers and Bombers are also halved for inclement weather.





Naval Interception (1D6)


Successful Interception�
7+�
�
Automatic Success�
6DR�
�
Automatic Failure�
1DR�
�
Note: Submarines cannot be intercepted as they are moving.





Naval Interception Modifiers


+1�
If the target attacked (as Strategic Warfare) a convoy route this turn.�
�
+1�
Per each friendly search group.�
�
+1�
If the interceptor is a submarine.�
�
+1








+2�
If the target moved within 2 hexes of the intercepting ship(s).


OR


If the target moved within 1 hex of the intercepting ship(s).�
�
+2�
If the target exits a port, and the intercepting ship(s) are in that hex.�
�
+2�
If the target is being intercepted in a coastal hex.�
�
+2�
If the target will be attempting an amphibious assault (that turn) in the hex of the naval interception.�
�
+1�
If any friendly air unit (non-ATP) is within range of the target that is being intercepted.�
�
+1�
If the target was successfully reconnoitered previously in the same hex (or large sea area).�
�
-?�
If any printed INT modifier exists (in large sea area). �
�
-1�
If “M” weather  (in Severe zone)�
�
-2�
If “W” weather  (in Severe zone).�
�
-1�
If target is a submarine.�
�
-1�
If inclement weather effects exist in interception zone.�
�
-1�
If the target is a single ship chit.�
�
-1�
Intercepting ship(s) were “in port”.�
�
-1








-2








-3�
If the intercepting ship(s) moved over 10 MPs to reach target hex.


OR


If the intercepting ship(s) moved over 13 MPs to reach target hex.


OR


If the intercepting ship(s) moved over 16 MPs to reach target hex.�
�






Happy Time Effect


1939�
1D6�
�
1940�
2D6�
�
1941�
1D6�
�
1942�
2D6�
�
Successful U-boat attack in NA or US Coast required for eligibility. Attack in US Coastal is declaration of War.








